

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 5

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SMD 5580J

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
2	REAR FENDER @ \$1542.60	N/S BUCKLED / O/S DISTORTED	3,085.20	1,978.00
2	REAR FENDER AIR DUCTS @ \$101.60	O/S SMASHED	203.20	101.60
2	REAR FENDER GLASS INNER SEALER @ \$30.00	NECESSARY	60.00	60.00
2	REAR FENDER INNER SHIELD @ \$98.70	O/S TORN	197.40	98.70
2	REAR FENDER INNER TRIM @ \$297.50	O/S CRUMPLED	595.00	297.50
2	REAR FENDER QUARTER GLASS WITH CHROME MOULDING @ \$653.30	NECESSARY	1,306.60	1,306.60
2	REAR FENDER TOP SIDE JOINT PANEL @ \$123.30	TO REPAIR SEE LABOUR	246.60	-
1	REAR WHEEL HOUSE PANEL	DISTORTED	605.80	605.80
1	REAR CAR SEAT CUSHION	NOT NECESSARY	652.30	-
1	REAR WINDSCREEN	CUT	1,511.70	985.00
1	REAR WINDSCREEN INNER SEAL	NECESSARY	50.00	50.00
2	REAR FUEL TANK METAL PIPE @ \$285.70	DAMAGED	571.40	571.40
1	REAR FUEL TANK COVER	BUCKLED	98.20	98.20
1	REAR FUEL TANK OPENER CABLE	JAMMED	98.60	98.60
1	SIDE ROCKER PANEL RH	BUCKLED	950.80	820.00
2	REAR WHEEL HUB BEARING @ \$495.70	O/S DAMAGED	991.40	495.70
2	REAR SHOCK ABSORBER @ \$297.60	O/S BENT	595.20	297.60
2	REAR SHOCK ABSORBER MOUNTING @ \$59.80	NOT NECESSARY	119.60	-
2	REAR KNUCKLE ARM @ \$485.90	NOT NECESSARY	971.80	-
2	REAR SPRING @ \$98.70	NOT NECESSARY	197.40	-
1	REAR AXLE CARRIER	BENT	1,532.60	1,532.60
1	REAR RH DOOR	DENTED	1,285.90	987.00
1	REAR RH DOOR CHECKER	NOT NECESSARY	58.90	-
2	REAR RH DOOR HINGES @ \$70.20	NOT NECESSARY	140.40	-
1	REAR RH DOOR STEP PANEL GARNISH	CRACKED	98.60	98.60
1	REAR RH DOOR INNER TRIM	CRACKED	453.60	453.60
1	REAR RH DOOR INNER LOCK	DAMAGED	312.50	312.50
1	REAR RH DOOR LATCH	NOT NECESSARY	42.10	-
2	REAR RH DOOR STICKERS @ \$48.90	NECESSARY	97.80	97.80



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	REAR RH DOOR INNER RUBBER SEAL	NOT NECESSARY	48.90	-
1	REAR RH DOOR CHROME MOULDING	NOT NECESSARY	154.60	-
1	REAR RH QUARTER GLASS GARNISH	NOT NECESSARY	68.90	-
1	REAR RH CENTER PILLAR GARNISH	NOT NECESSARY	185.20	-
1	REAR DOOR WEATHERSTRIP (DOOR) RH	NECESSARY	198.60	198.60
1	REAR DOOR WEATHERSTRIP (FRAME) RH	NOT NECESSARY	187.90	-
1	REAR DOOR STOPPER RH	NOT NECESSARY	38.60	-
2	ROOFTOP MOLDING @ \$342.60	NOT NECESSARY	685.20	-
1	BOOTLID	DISTORTED	1,163.80	850.90
1	BOOTLID OUTER CHROME MOLDING	CUT	286.50	286.50
1	BOOTLID INSULATOR	TORN	236.90	236.90
1	BOOTLID "SYLPHY" EMBLEM	NECESSARY	85.20	85.20
1	BOOTLID LOGO	NECESSARY	86.10	86.10
2	BOOTLID LAMPS @ \$298.60	CRACKED	597.20	597.20
2	BOOTLID LAMPS INNER SEALER @ \$30.00	NECESSARY	60.00	40.00
2	BOOTLID NUMBER PLATE LAMPS @ \$68.90	NOT NECESSARY	137.80	-
1	BOOTLID OPENER SWITCH	NOT NECESSARY	89.60	-
1	BOOTLID KEY LOCK	NOT NECESSARY	96.30	-
1	BOOTLID INNER LOCK	DAMAGED	156.90	156.90
1	BOOTLID AUTO LOCK ACTUATOR	NOT NECESSARY	98.60	-
1	BOOTLID LOCK LATCH	NOT NECESSARY	65.70	-
1	BOOTLID WEATHERSTRIP	CUT	157.90	157.90
2	BOOTLID HINGES @ \$98.60	BENT	197.20	197.20
1	REAR BUMPER	DISTORTED	695.80	695.80
2	REAR BUMPER SIDE RETAINERS @ \$58.90	NECESSARY	117.80	117.80
2	REAR BUMPER ATTACHMENT RETAINERS @ \$45.60	NOT NECESSARY	91.20	-
3	REAR BUMPER SPONGE @ \$146.80	CRACKED	440.40	440.40
2	REAR BUMPER REFLECTORS @ \$69.50	O/S SMASHED	139.00	69.50
2	REAR BUMPER DAMPERS @ \$98.70	O/S DENTED	197.40	98.70
2	TAILLAMPS @ \$397.60	CRACKED	795.20	795.20
2	TAILLAMPS PANEL @ \$259.60	O/S DENTED	519.20	259.60
2	TAILLAMPS INNER SEALER @ \$30.00	NECESSARY	60.00	40.00
1	END PANEL	DISTORTED	598.60	598.60



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	END PANEL TOP TRIM	DISTORTED	208.70	208.70
1	REAR CROSS MEMBER	TO REPAIR SEE LABOUR	1,186.40	-
2	REAR KEY ANTENNA SENSOR @ \$198.60	CRACKED	397.20	98.00
1	SPARE TYRE FLOOR PANEL	TO REPAIR SEE LABOUR	805.20	-
1	SPARE TYRE SCREW CAP	NOT NECESSARY	45.20	-
1	SPARE TYRE PANEL TOP BOARD	DEFORMED	615.20	615.20
1	SPARE TYRE PANEL TOP TRAY	DEFORMED	452.00	452.00
1	SPARE TYRE PANEL TOP SPONGE	CRACKED	385.20	385.20
1	FRONT RH SEAT	TO REPAIR SEE LABOUR	1,589.60	-
1	FRONT RH SEAT SUPPORT BRACKETS	NOT NECESSARY	485.90	-
	LESS 10% DISCOUNT		-3,203.94	-1,911.49
			28,835.46	17,203.41
1	REAR ALLOY WHEEL RIM RH (SN)	CUT	860.40	580.00
	LESS 10% DISCOUNT		-86.04	_
			774.36	580.00
	SPECIAL NETT ITEMS			
2	REAR WINDSCREEN SEALANT (SN)	NECESSARY	80.00	60.00
2	END PANEL SEALANT (SN)	NECESSARY	80.00	60.00
1	REAR WINDSCREEN TINT FILM (SN)	NECESSARY	480.00	200.00
1	REAR TYRE (SN)	NOT NECESSARY	250.00	-
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	30.00	30.00
1	SET REAR BOOTLID OUTER MOLDING CLIP (SN)	NECESSARY	30.00	10.00
2	SET REAR BOOTLID LAMPS CLIPS (SN)	NECESSARY	60.00	20.00
2	SET TAILLAMP CLIPS (SN)	NECESSARY	60.00	20.00
1	SET REAR BOOTLID INSULATOR CLIPS (SN)	NECESSARY	30.00	30.00
1	SET REAR REVERSE SENSOR (SN)	DAMAGED	250.00	200.00
1	SET REAR REVERSE CAMERA (SN)	NOT NECESSARY	280.00	-
1	SET END PANEL TOP TRIM CLIPS (SN)	NECESSARY	30.00	10.00
2	SET REAR FENDER INNER TRIM CLIPS (SN)	NECESSARY	60.00	30.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 5

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	SET REAR FENDER INNER SHIELD CLIPS (SN)	NECESSARY	60.00	10.00
1	SET REAR FUEL TANK CLIPS (SN)	NOT NECESSARY	30.00	-
1	SET REAR NUMBER PLATE WITH CASING (SN)	BENT	50.00	50.00
1	REAR FENDER QUARTER GLASS SEALANT (SN)	NECESSARY	80.00	40.00
1	SET SPARE TYRE FLOOR INSULATOR PAD (SN)	NOT NECESSARY	600.00	-
			2,540.00	770.00
	LABOUR			
	TO RENEW DAMAGED PARTS, REPLACE, BEAT, WELD, REALIGN AND ALIGNE ALL. INCLUSIVE OF THE REPAIR OF REAR FENDER TOP SIDE JOINT PANEL, REAR CROSS MEMBER, SPARE TYRE FLOOR PANEL AND FRONT RH SEAT.		3,600.00	2,400.00
	TO RESPRAY AFFECTED AREAS.		3,000.00	1,800.00
	TO REMOVE, REPLACED DAMAGED LAMPS AND CHECK UP REAR WIRING.		120.00	30.00
	TO REMOVE AND REFIT INNER GARNISHES AND UPHOLSTERY.		200.00	120.00
	TO REMOVE AND REFIT REAR SEATS FOR FENDER REPLACEMENT.		200.00	120.00
	TO REMOVE AND REFIT REAR REVERSE SENSOR.		150.00	50.00
	TO REMOVE AND REFIT REAR REVERSE CAMERA.		150.00	50.00
	TO REMOVE AND REFIT REAR UNDERCARRIAGE AND AXLE.		550.00	300.00
	TO CONDUCT WHEEL ALIGNMENT.		180.00	80.00
	TO REMOVE AND REFIT REAR WINDSCREEN GLASS.		180.00	120.00
	TO REMOVE AND REFIT QUARTER GLASS TO ASSIST REPAIR.		150.00	100.00
	TO APPLY UNDERCOATING AFFECTED AREA.		350.00	150.00
	TO REMOVE / REFIT REAR SILENCER BOX.		180.00	80.00
	TO TRANSFER REAR RH DOOR MECHANISM.		180.00	80.00
	TO TRANSFER REAR BOOTLID MECHANISM.		180.00	80.00
	TO REPAIR REAR CHASSIS MEMBER.		800.00	180.00
	TO REMOVE / REFIT REAR FUEL TANK TO FACILITATE FENDER REPLACEMENT.		300.00	80.00
			10,470.00	5,820.00
	GRAND TOTAL		42,619.82	24,373.41



Page No.:5 of 5

RECOMMENDED COST OF LUMP SUM REPAIRS		19,500.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CC6/CTI19018974/Ada3s2



ADRIAN LING WAI PING

B.Eng,AMSOE,AMIRTE,AMSAE-A,M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.